0002120189787999

N

0 =Ik¥ O0—e

..>>

2015 4F #HAH L (FR) 1M

(1) RoOBEEE M &,

. QQI
(ii) gy= g

(i) y=sin(coszx)

(2) ROEBHOEZE KD &.
(i) fOH |sinzcosz|dx

1
. v o+ 222 —3
(11)‘[; g dr

1
| 3

2
(iv) fl 3 log rdx

)

E 7T
(2) (0 (5%) = [2 SinX coSX dx + S\E

2

x T
:Jz-f-smzxdhf—-'-smzx
02 r 2
2
x
[-—-—COS‘Z‘I]Z‘*[—CGS‘ZI]
0
= L oL L L
E pEETE Yy

= |

——

7Y ! 2
(i) (48) = (7 (X=DAF3x+3)
L (x+1)(x-1) dx

= If‘ X*t3xr3

o X+ dx

(é (x+1)(x+2)+1 Ex
o X1

Rl

dx

2

%:- + 22 + Jog z+!)J

L x+t2+
[

= 3
= ol

“

| 758 / 245

1 | ROEKMIZEZ XK. 272U, logzid x DEANBERT.

(€D
(i) 1}':

cos (cos x) - (~sin x)

n

—~ Sih X - cos (cos )
I e S ]

(i) . 2€*(x+1)-e** |

T (x+1)?

= K2%*)g**

~sinx cosx dx

(x+1)2
7

dx
7T
I
2

A»+2

x+{ ) o*+3x+3
p il 4
B -

2x+3

21+ 2

1




0002120189787999

-

9@ ERlXZE 0o

N

2015 fF AHEE (A%) 1M

(1) ROBI%EMHE L.
(1) y=sin(coszx)
(2) ROEMDOM%E KD &.
( i)kmeshixcosxldx
Gii) f 3:3;2f 1—3
Gi) [ <m + [

2
(iv) fl 2’ log rdzx

dx

G (41)= {,2(_;55)'3.,51 dx

2
[gh%d:*ﬂ

n

/
= 4,&32“{4‘]?

/5
4l 2 = 77

)

7

Cil ) =

2%B /2%

1 | ROBRUZER K. 270U, logxld r D AR E £,

s
2T A=25in6 €17 BHAFE 4

” ) x”o->1
@i (/dx- 2c050-d0 - O—'%.

(5= f, ez dx + |

4=3x? o

[
o Vy-x2

( 2
- e =
X ﬁSmth’(

FiB 54

1

dx- C°$9d9 1—Hi:4_
0 o->§

i
(-?-EI‘)= g'é' 2cosB 46 + 7
o 2cosb So 2cos B

7 r
61% + 0],

[
x
e

n

/%

X3

7

y 2
‘fﬂogz‘[%],

dz

5 5 <030




